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What do I mean by semipermeable membrane? That means they ____________some things to __________through.  But now let's make this interesting. Let's treat our water as __________________, and let's put some _____________________ in it. And I'm going to make them bigger, so you can see they would physically have trouble ___________________ through these gaps. Thinking about the membrane as only allowing certain things of certain ____________ to pass through. So, let's throw some solute there, and I'll actually throw a little bit of solute here too. I'm going to do many more over there on the right-hand side. So, we have a higher _________________________ of solute on the right-hand side. You can see even from the size where I drew these gaps these big ________________________ aren't going to be able to go through the _____________________. They aren't going to be able to _______________________. 

What do we think is going to happen? There's all this interference that play from these big molecules that aren't able to diffuse. So an argument can be made that these water __________________________, some of them will still make it from right to left, but you have a lower probability of going from right to left as you have from going to left to right. So because of this you would have a net _________________ of water from this area where you have a low solute concentration. Remember the solute is the thing that's _____________________ in the water. So we have a net migration of the water molecules from this solution that has a ______________solute concentration to one that has a __________________ solute concentration. We call this __________________.


What is the other osmosis example discussed in the video?
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